
RECEPTION DESK
User Manual



INTRODUCTION
Thank you for choosing the Reception Desk. Please read this user manual carefully and 

keep it for future reference. If you need any assistance, please contact us by email with your 

order number and details.

PACKAGE CONTENTS
●  1 x Reception Desk

●  1 x Pack of Accessories

●  1 x User Manual

PRODUCT CARE
Please follow the instruction to assemble this item correctly.

Don't make the screws be too loose or too tight.

Please put the screws into the holes' position just as shown in the arrows of the image, and 

then clockwise rotate 90° or 180°

More product parts, it is recommended that two people install

The fittings pack contains small accessories that should be kept away from small children.

●

●

●

●

●

HARDWARES LIST
A E

I1

B C D1 D2

F1 F2 G H I2

J K L

L1 L2 L3

x1 x1

x1

x24 x48 x3 x3

x50 x50 x36 x2 x1

x2 x8 x1 x1 x1

M4 162*55*45

41*19

M5*45 Ø6*30 29*25 M4*22

Ø6.5*36 Ø15*9.5 M3*12 Ø12*25 54*12*1.0

M3*16 M4*30 LED

R G B

MODE
+

MODE-

AUTO

MUSIC

B/S
+

B/S
-

OFF ON

- 01 -



PANEL LAYOUT

4

14 12
7

15 16 13

1

3

2

2

18

8

21

24

20

23 22
21

24

20

23 22

26

25

19

9

10 11

17

5 6

M2 (DR) x2

M2 (CR) x2

M1 (CL) x2

M1 (DL) x2

N1 x2

N2 x2

O Ø39*17 Sticker

x1 x50

- 02 -



x1I1

x2J

1 YOU WILL NEED

F1 x46 I1 x1 J x2

x46F1

- 03 -

1

3

4

18

19

9

8

17
20

20

25



Slider arm Slider bracket

Slider bracket
The Damping

Slider arm

2 YOU WILL NEED

N x2
Attention

Note: This piece(N) comes preassembled for 
shipping purposes and must be disassembled 
to complete the desk assembly.

Extend the slider bracket all the way forward.1). 

Press the plastic release lever of the slider arm up and pull the slider 
bracket complete out.

2). 

Decide whether to remove the damping according to the your actual 
usage habits.

3). 

Slider arm
Slider bracket

- 04 -



3 YOU WILL NEED

G x6 M1(CL) x1 M2(CR) x1

4 YOU WILL NEED

F1 x2 N1 x1G x6 M2(CR) x1

M2(CR)
G x3

M2(CR)
G x3

M1(CL)

G x3

x2F1

N1

G x3

Attention
And

- 05 -

5 7

6 6



N1

G x3

M1(CL)

G x3

5 YOU WILL NEED

N1 x1G x6 M1(CL) x1

6 YOU WILL NEED

C x2B x2

Attention
And

C x2

B x2

- 06 -

12 12

12 13

14



7 YOU WILL NEED

C x2B x2

8 YOU WILL NEED

C x2B x2

C x2

B x2

C x2
B x2

- 07 -

16

15

1213

14

16

15



9 YOU WILL NEED

C x3B x5

10 YOU WILL NEED

C x3B x5

C x3

B x5

C x3

B x5

- 08 -

7

16

15

13

6

7

13

16

15



11 YOU WILL NEED

F2 x2C x1

12 YOU WILL NEED

C x5 F2 x2B x2

B x2

F2 x2

C x5

- 09 -

F2 x2

9

10

C x1

7

13

16

156

9

8



13 YOU WILL NEED

C x5B x4

14 YOU WILL NEED

C x7

B x4

C x5

C x7

- 10 -

95

8 6

7
16

15

13

17

18

5

7

9

8

12

16
14

6

13

19



15 YOU WILL NEED

L1 x1F2 x14

F2 x14

Please thread the LED
strip through this hole first

L1 x1

- 11 -

5

19

6

16
7



16 YOU WILL NEED

L1 x1

17 YOU WILL NEED

F2 x4C x2

Stick the LED lights 
on the bottom of 
the board

Please tear 
off the sticker 

then stick it 
on the board

L1 x1

F2 x4

C x2

- 12 -

7

19

18
17

6
9

3

2

2



19 YOU WILL NEED

F1 x2

18 YOU WILL NEED

F2 x5C x2

F2 x5

C x2

x2F1

- 13 -

1

3

2

2

4



21 YOU WILL NEED

C x10 O x1L2 x1F2 x11 L1 x1

20 YOU WILL NEED

C x2 F2 x2B x2
F2 x2

Cx2Bx2

F2 x11

Cx10

O x1

- 14 -

L1 x1

L2 x1

3

2

2

1

4

4

3

2

2

19 7

5 6

1



22 YOU WILL NEED

G x2E x1

23 YOU WILL NEED

F2 x2C x2

G x2

E x1

F2 x2

C x2

- 15 -

4

3
1

2

2

7
19

6
5

26
25



24 YOU WILL NEED

N2 x2G x6

N2

N2

G x6

- 16 -

25 YOU WILL NEED

G x8 K x8 M1(DL) x2 M2(DR) x2

K x4
G x4

x2

M1(DL)

M1(DR)

23

22

21

26

25



26 YOU WILL NEED

D2 x2 F2 x8D1 x2

27 YOU WILL NEED

H x2

H x2

F2 x4

D2 x1

D1 x1

- 17 -

24

20

21

2223

11

x2



28 YOU WILL NEED

D2 x1 I2 x1G x2D1 x1

- 18 -

I2 x1

D1 x1 D2 x1

G x2

11

4

26
25

7

1



29 YOU WILL NEED

L3 x1

Browse the bottom page 
of the LED instructions and 
scan the QR code with 
your phone. This way you 
can download and install 
the APP. You can control 
the switch of the light belt 
with your phone

R G B

MODE
+

MODE-

AUTO

MUSIC

B/S
+

B/S
-

OFF ON

L3 x1

20

4

7

11
6

1


